Virginia High School League Regional Competition, 2000-01 season

Match #7


These questions have been written for use by the Virginia High School League’s Scholastic Bowl competition at the Region level by Shawn Pickrell. These questions are to be used by individual Regions to conduct their Scholastic Bowl competitions under the following conditions, which must be known by all coaches, competitors and spectators of the competition. 

a. Release of these questions to any entity not affiliated with the Region competition or the schools that are members of the given Region before all Region champions have been announced is prohibited. This is meant to keep question security. 
b. Competitors may not discuss or otherwise reference these questions with other entities in the Commonwealth of Virginia that are associated in any way with the Scholastic Bowl competition before all Region champions have been determined. This is also meant to keep question security. 
c. After that, these questions may be freely released to entities within the Commonwealth of Virginia. These questions may also be discussed or otherwise referenced between entities within the Commonwealth of Virginia. This is meant to allow the proliferation of these questions so that all schools in the Commonwealth of Virginia may have practice material for future Scholastic Bowl competitions, and therefore this practice is encouraged. 
d. These questions may not be released AT ANY TIME to entities outside the Commonwealth of Virginia, except with prior approval of Shawn Pickrell. Discussion of these questions, however, is permitted between entities within and without the Commonwealth of Virginia This will apply to ANY entity in the Commonwealth of Virginia that receives these questions, be it directly from Shawn Pickrell or indirectly through various means. 

First period: 15 toss-ups

1.
According to the author of this essay, moral law is superior to civil law. However, if the person chooses to break civil law to follow his own moral law, he should be prepared to suffer the penalty. What is this essay by Thoreau?

ANSWER: CIVIL DISOBEDIENCE
2.
On March 27, 1836, Santa Anna ordered the execution of 300 Texans under the command of Captain James Fannin at what battle which was also ‘remembered’ at San Jacinto?

ANSWER: GOLIAD
3.
My Generation is the most recent publication of this organization. What is this organization gearing My Generation toward baby boomers, who are now eligible for membership but may think they are not quite ready for Modern Maturity, this organization’s other major publication?

ANSWER: AARP or AMERICAN ASSOCIATION OF RETIRED PERSONS (The group changed its name to the acronym!)

4.
What is the name given to the elements that occupy the space between group 2 and group 3 of the periodic table, such as iron, nickel, gold and silver?

ANSWER: TRANSITION elements

First period (continued)

5.
THIS IS A COMPUTATION QUESTION. A manager makes $100,000 a year. If the first $25,000 is taxed at a rate of 10%, the next $50,000 is taxed at a rate of 20% and the rest of his money is taxed at 40%, how much does he owe the government in taxes?

ANSWER: $22,500 ($25,000 * 10% = $2,500, $50,000 * 20% = $10,000, $25,000 * 40% = $10,000 -- $22,500 in all)

6.
If f(x) is continuous and differentiable on the interval a through b, there is at least one number c so that the derivative of f at c is equal to f(b) – f(a) (f of b minus f of a) divided by b – a? 

ANSWER: MEAN VALUE theorem

7.
What is the name of the small parts in the lungs where the exchange of carbon dioxide and oxygen occurs?

ANSWER: AVEOLI 
8.
Three little ice ages will occur. Then the time will come, and the cocks will crow. The fire giants will come out of Muspelheim. The frost giants will be carried in Naglfar (nag-el-FAR), the ship made out of dead man’s nails. The host of Asgard will be composed of the valiant heroes whom the Valkyries took to Asgard in what great final battle between good and evil of Norse mythology?

ANSWER: RAGNAROK
9.
What system of book classification gives books a three digit number (which sometimes has decimals attached to it) and is named for its creator?

ANSWER: DEWEY DECIMAL system

10.
A farmer receives a decade of material wealth in exchange for his soul. However, when the Devil comes to claim the farmer’s soul, the farmer has a famous statesman argue his case before a jury of deceased American villains. What is this short story by Stephen Vincent Benet, with the main characters other than the Devil being Jabez Stone and Daniel Webster?

ANSWER: THE DEVIL AND DANIEL WEBSTER

First period (continued)

11.
What French painter was famous for his paintings of dance classes and of horse racing, including paintings as The Dance Class, Dance School, Jockeys Before the Race and Horses Before the Stands?

ANSWER: Edgar DEGAS
12.
In 461 BC, he brought about the reforms that brought full democracy to Athens. By 443 BC, he was virtually the uncrowned king of Athens, and remained so until his death in an epidemic in 429 BC. Who is this general that presided over the ‘Golden Age’ of Athenian supremacy?

ANSWER: PERICLES

13.
Who is the French romantic poet that wrote Black Venus, White Venus and his only collection of poems, Flowers of Evil?

ANSWER: Charles BAUDELAIRE
14.
THIS IS A COMPUTATION QUESTION. A worker brings grosses $1,200 twice a month. How much will the worker put in his 401(k) plan over the course of a year if he saves 4% in the first six months and then 6% in the last six months?

ANSWER: $1,440 ($48 per pay period * 12 = $576 and then $72 per pay period * 12 = $864 giving $576 + $864 = $1,440)

15.
Remembering the ionic charges of calcium and fluorine, what would be the name of the compound combining calcium and fluorine?

ANSWER: CALCIUM DIFLUORIDE (calcium is +2, while fluoride is –1)

Second period: 10 directed questions

Read the questions marked with “A” to the team that selected question set A and the questions marked with “B” to the team that selected question set B.
1A.
THIS IS A COMPUTATION QUESTION. How many degrees are in each angle of a regular octagon?

ANSWER: 135 degrees(180 * 6 = 1080, 1080 / 8 = 135)

1B.
What government agency was established during Reconstruction to provide schools and social services to former slaves?

ANSWER: FREEDMEN’S BUREAU
2A.
Who are Peter Rabbit’s three siblings?

ANSWER: FLOPSY, MOPSY and COTTONTAIL
2B.
Who is the French composer of Carmen?

ANSWER: George BIZET
3A.
What is the number 23.49328 expressed to four significant figures?

ANSWER: 23.49
3B.
THIS IS A COMPUTATION QUESTION. Solve the equation 3x + 5 = 2x – 7 for the quantity x.

ANSWER: NEGATIVE 12 (3x + 5 = 2x –7 leads to x + 5 = -7 leads to x = -12)

4A.
Who is the Egyptian ruler that invited the Mamelukes to a dinner party, killing off their 20,000 best and brightest in 1811?

ANSWER: MUHAMMAD ALI 

4B.
Who wrote the medieval classics The Confessions and The City of God?

ANSWER: SAINT AUGUSTINE
5A.
What composer was the subject of the movie Immortal Beloved?

ANSWER: Ludwig von BEETHOVEN

Second period (continued)

5B.
What property of a wave is the inverse of the period, and is defined as the number of cycles per second?

ANSWER: FREQUENCY
6A.
Given two sets, what name is given to the set of all elements that are in either or both sets?

ANSWER: UNION
6B.
What province of Canada was the last to join Canada, doing so in 1949?

ANSWER: NEWFOUNDLAND
7A.
In the short story ‘The Gift of the Magi’, what are the first names of O. Henry’s two young lovers?

ANSWER: JAMES (or JIM) and DELLA
7B.
What High Dam in southern Egypt celebrates its 30th anniversary this year?

ANSWER: ASWAN High Dam

8A.
What type of feathers are used by birds for insulation?

ANSWER: DOWN feathers

8B.
THIS IS A COMPUTATION QUESTION. One can of paint covers 4000 square feet adequately. A house is 12 feet high, 60 feet wide and 40 feet deep. How many cans of paint are required to fully paint this house?

ANSWER: EIGHT (2400 * 12 = 28,800 / 4000 = 7.2, so you’ll need an eighth)

9A.
What river forms the border between Washington and Oregon?

ANSWER: COLUMBIA river

Second period (continued)

9B.
What six-letter word taken from the French for ‘left’ means lacking social polish, tactless, awkward or clumsy?

ANSWER: GAUCHE
10A.
What Norwegian band had its only American hit in the 1980s with ‘Take On Me?’

ANSWER: a-ha
10B.
What name is given to the quantitative measurement of the degree of disorder in a chemical system?

ANSWER: ENTROPY
Third period: 15 toss-ups

1.
What Crusade turned wound up sacking two Christian towns, the city of Zara in Croatia and the city of Constantinople in 1204?

ANSWER: FOURTH Crusade

2.
What is the name given to the two-day feast celebrated at the end of Ramadan?

ANSWER: EID al-Fatr (eed) (of course accept close pronounciations, sometimes it is only spelled ID al-Fatr)

3.
THIS IS A COMPUTATION QUESTION. A food has 200 calories for every four ounces. If the food has a density of 12 cubic inches per pound, then how many calories are in a chunk of this food that is 2 inches by 2 inches by 3 inches?

ANSWER: 800 CALORIES (volume is 12 cubic inches – one pound -- hence 800 calories)

4.
The sinoatrial node, which controls the rate of contraction of the heart, is better known by what colloquial name?

ANSWER: PACEMAKER
5.
As a noun, this seven-letter word can mean an outwardly projecting part of a fortification, trench system or line of defense. It can also mean as an adjective, shooting out or up, leaping, or figuratively forcing itself on the attention, prominent, conspicuous and noticeable. What is this word which is used to describe the main point of an argument?

ANSWER: SALIENT

6.
What major Democratic figure and civil rights activist has just revealed that he has fathered a child out of wedlock?

ANSWER: Rev. Jesse JACKSON
7.
Amphibious landings at what city near Seoul helped the UN forces to break out of the Pusan Perimeter and press northward, nearly re-unifying Korea?

ANSWER: INCHON

Third period (continued)

8.
In the book Animal Farm, what animals eventually form the ruling class, and become indistinguishable from the humans at the end?

ANSWER: the PIGS
9.
What mineral, the most common in the earth’s crust, has a value of 6 on the Mohs scale?

ANSWER: FELDSPAR
10.
THIS IS A COMPUTATION QUESTION. A bottler has a contract to bottle 300,000 bottles of beer. Assuming the machinery will be broken for 2 hours a day, and can bottle 4,000 bottles an hour when working, how many days (rounded up) would it take to bottle the 100,000 bottles if 24-hour shifts are used?

ANSWER: FOUR (22 * 4,000 bottles = 88,000 bottles a day = 352,000 bottles after four days)

11.
What name is given to a series of commands in MS-Word or other Office programs to a set of commands and instructions that are grouped together as a single command to accomplish a task automatically?

ANSWER: MACRO
12.
These insects were introduced in Alabama as ship’s ballast. What are these ants that are effective at getting rid of other types of ants, and whose sting is characterized by a stinging?

ANSWER: Red FIRE ants

13.
What children’s novel by Mary Mapes Dodge was subtitled The Silver Skates, and centers around the life of a poor Dutch family?

ANSWER: HANS BRINKER
14.
What recent movie stars Tim Robbins as a monopolistic software executive and Ryan Philippe (FILL-ih-pee) as the hot young software guy out to stop him?

ANSWER: ANTITRUST
Third period (continued)

15.
What is the unfair trade practice of exporters selling large quantities of goods in a foreign country at prices with which local producers cannot hope to compete?

ANSWER: DUMPING
Spares

What name is given to how a wave behaves when it encounters an obstacle or non-uniformity in its medium, causing it to ‘bend’ around obstacles and have patterns of strong and weak waves radiating beyond the obstacle?

ANSWER: DIFFRACTION

What city was the site of George Washington’s 1789 inauguration?

ANSWER: NEW YORK City

THIS IS A COMPUTATION QUESTION. A flagpole casts a shadow of 50 feet. A sapling, which is 2 feet tall, casts a shadow of 4 feet. How tall is the flagpole?

ANSWER: 25 feet

Rembrandt painted a picture of The Feast of what last king of Babylonia?

ANSWER: BELSHAZZAR
What form of an adjective usually ends in the suffix –est?

ANSWER: SUPERLATIVE
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